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Divide with Remainders
What is 23 + 57

The model below shows one way to
think about this division problem.

Think: If you divide 23 into 5 equal groups, how many are in each group?

23 +5 = [
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There are 5 groups of 4, with 3 left over.

413
23 +5=413 5)23 The remainder is the amount left over when a
—20 number cannot be divided evenly. You can
3 multiply and subtract to find the remainder.

Complete 1-5 to find the remainder.

6r 4r 9r 6r 6r
1. 5)32 2. 7)31 3. 4)39 4. 3)19 5. 9)62
—30 —28 _ _ _
Divide.
6. 7)| 413 7.501 19 8. 3) 2| 2 9. 20117

Reteach RW&9
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Place the First Digit

When you begin a division problem, you must decide
where to place the first digit of the quotient.

Example A Example B
2 g | Divide the tens. K
25 | Multiply. 3X2=6 Sl g
5 Subtract. 7 — 6= 1 2lei5] 3 <4, 50 asif your'self
NI Compare. 1<3 4)39[2 how many 4’s are in 39.
—l6{L| | Bring down? Yes. Bring --
1l down 1 to
make 11.
Divide the ones. 28 | Divide the tens.
2|3 [r2 [ Multiply. 3X3=9 43192 Multiply. Subtract.
3)7[7] | Subtract. 1M1—9=2 —13/6{4 Compare. Bring down.
_lgl4| | Compare. 2<3 3|12 | Divide the ones.
117| | Bring down?  Nothing s left. | | I3[ Multiply. Subtract. Compare.
19 If there is a 0 | Nothing is left.
5 remainder,
record it.

Write an x where the first digit in the quotient should be placed.

|
1. 534 2. 3|74 3. 2119715
{3]0 -6 [ 181
4 1|4 1|5
Divide.
6. 3] 2] 9 7. 2] 4] 7 8. 7)

. 4)]5[379| 5. 5)8]3
# :_5i

113 3|3
95 9. 57150

Reteach RW75



